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Answers are to be given only in Enghsh except in  the case of Candidates who have opted

'1_.-

I-Imd;_wdl’ not be valued.
Question No. 1 is compulsory.
Attswe any five quéstions from the remaining sx questions.

Working otes should form part of the answers.

for Hindi Medium. If a candidate has not opted for Hindi Medlum, his/her answers in

Marks

Answer the following :

(a) ABC LiImted started 1ts opetmons in the year 2013 with a total

pmductlm capacity of 2 00900 unlts ‘I'he followmg information, for
two years, are made avallable to you : '

_A; Year Year
| 013 2014
‘Sales (units) 80,000 1 ,20,000

TotalCost('\") 34,40,000 4560000 |
There has be¢n no change in the cost structure and se]]mg prlce and it is

anticipated that it will remain unchanged in the year 2015 also.

Se]lmgpnoels?40perumt
MRN H
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()

Calculate :

2)

N-H

() Variable cost per unit.

(ii)' Profit Volume Ratio.

(iii) Break-Even Point (in units)

(iv) Profit if the firm operates at 75% of the capacity.

Marks

X Y Z Limited is drawing a pfoducﬁon plan for its two products —

Product ‘xml’ and ‘Product ‘yml’ for the year 2015-16. The company"s

policy is to mamtam closing stock of finished goods at 25% of the

_anumpated volume of sales of the succeedmg month.

The following are the estimated data for the two products :

(i)  Production Budget (Month__wis’e)

Gi)

MRN-H |
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- yml
1,50,000
< 280
T120

 24,00,000 Z5,00,000

Production cost Budget (for first quarter of the year)

_ xml
Budgeted Production (in uﬁit_s) 2,00,000
Direct Material (per unit) 220
Dll'ect Labour(perumt) 2130
Du'ect Manufacturing Expenses
The estimated units to be sold in the first four months of the year
2015-46 are as under : - o o
~April May | June | July '!
xml 8,000 | 10,000 12,000 16,000
yml 6000( 8000 9000] 14000]



(c) A new customer has approached a firm to establish new business

3)

MRN-H

Marks

connection. The customer require 1.5 month of credit. If the proposal is
accepted, the sales of the firm will go up by ¥ 2,40,000 per anpum. The

new customer is being considered as a member of 10% risk of non-

payment group.

The cost of sales amounts to 80% of sales 'The tax rate is 30%

and the desired rate of return is 40% (after tax).

Should the firm accept the offer ? Give your'op_inion on the basis

of céleulatiens.

‘ (d) Following information are_related to fem' firms of the_same industrj :

MRN - H
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FIRM Changein | Changein | Changein
- Revenue Operating | Earning per
.  Income Share
P | 2% 25% . L 30%
Q 25% 32% 2%
- - 23% 6% | 2%
s 21% % | 23%
Find out ; o |
@ degree of operatmg leverage, and
(id) degree of combmed leverage for all the ﬁrms

) PdT-Ot |



MRN-H Marks
: 2, (a) QS Lumted has furnished the following information : ' 8
Standard overhead absorpuon raté per unit 20

Standard rate per hour 4
Budgeted production | 12000 units
Actual production 15560 units
Actual worﬁng hours | - o 74000

Actal overheads amounted to T 2,95,000, out of which ¥ 62,500 are

fixed. Overheads are based on the following ﬂcluble budget :

Production (un_its)’ _ Total Overheads ®

1000 0 210000

Calcufale follovnng overhead variances on the hasis of hours :
- f(i) | Vanable overhead efﬁc:ency vanancc
(i) Vanable overhead expendltm'e vananoe. -
(111) leed overhead efﬁclency vananee
. ~ (iv) Fixed ove;head capamty vanance.

"MRN-H
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(5)
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(b) SSR Ltd. has furnished the followmg ratios and information relatngto 8
the year ended 31% March, 2015.

Sales ¥ 60 Lacs

Return on Net worth 25%

Rate of Income tax ?50.% |

Share Capital to reserves 7:3

Current Ratio ' ' 2

Net-Profit to Sales (after tax) . 6.25%

Ioventory Tumover 12

(Based on cost of goods sold and closing stock) | |

Cost of goods solo T 18 Lacs
" Lnterest on Debentures (@ 15%) T 60,000
 Sundry Debtors o | t 2 Lacs

o Sundry Creditors ‘2 Lacs

You are requued to:

() Calculate the Operahng expenses for the year ended 31“t March
2015. o

(id) Prepare a Balance Sheet as on 31"@Il March 2015
MRNH o . PTO.
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3.

@ A mini-bus, having a capacity of 32 passengers, operates between two

(6)
MRN - H . Marks

places — ‘A’ and ‘B’. The distance between the place ‘A’ and place ‘B’
is 30 k. The bus makes 10 round trips in a day for 25 days in a month.
On an average, the occuparncy ratio is 70% and is expected throughout

- the year.

‘The details of other expenses are as under :

Amount ®
__Insurance_ 15,600 Per annum
Garage Rent o | 2,400 '_ P_;‘»r qmarter.
‘Road Tax 5000 Peranmum
Repans : - 4,800 Per quarter
Salary of opetating-staff _ ' 7,200 Per n;onth _
’[yres aﬁd_Tu'bes | : 3,600 Per quarter
Dieselizzz: '(oné .Iitre is'consuniet.i for - o _ |
efery’Sjnﬂ) '_ | - 13 Per_.litre '
oil andSundnes o 22 Per 100 km run
Dep:ei:%aﬁon o - . 68000 Perannum

| Passenger tax @ 22% on total takmg is to be levled and bus operator

reqmres a proﬁt of 25% on total takmg

-Prepare operalmg cost statemcnt on the annual bams and ﬁnd out the

- cost pe.r passenger kilometer and one way fare per passenger.

MI___!NH
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(b) Given below are the data on a capital project ‘M’. 8
Anhual cashinflows ¥ 60,000
U.;;eful life 4 years
Intenal rate of retum  15%
Profitability index ~ 1.064
Salvage value 0
" - You are required to c:il_culate for this project M :
(i) Cost of project
(ii) Payback penod
(iii) Cost of capital
(iv) Net present valué o
~ PV factors at different rates are giﬁen belﬁw:
 Discountfactor | 15% | 1% | 13% | 1%
iii year | 0..869'. 0877 0.885 " 0.893
| 2 year | 0.756- | 0.76_9' 0.783 | 0797
3year -”.0..658_  .6.6_7'_5'_' 0693 | 072
4year : . 0572 0,592'__ 0613 | 0636
| m-;ﬂ | PTO.
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4. (a) A company manufactures one main product (M,) and two by-pr’odﬁcts 8
B.l. and B,. For the month of January 2015, following details are
available :

Total cost upto Separation point T 2,12,400.

M, B,

| Cost after separation : - T 35,000 | ¥ 24,000

No.of Unitsproduced | 4,000 | 1800 | 3,000

Selling Price per upit 7100 | T40 | T30
| Estimated net profit as o= | 2% | 30%
| percentage to Sales Value R

| Estimated selling expensesas | 20% | 15% | 15%

- percel\:tfag"e'.ti:-» Sales Value

There are no opening or closing inventories.
Prepare statement showing :
@ Allocation of Joint Cost; and
(i) Product-wise and overall profitability of the company for January,
2015. | |
MRN-H
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~ (b) A Ltd. wishes to raise additional finance of ? 30 lakhs for meeting its_ 8
investment plans. The company has ¥ 6,00,000 in the form of retained

earnings available for investment purposes.

The following are r_he further details :

. Debt equity ratio.—. 30 : 70

‘e Cost of debt - at'.the rate of 11% (before tax) upto ¥ 3,00,000 and

14% (before tax) beyond that. |

) Eamingspersharé~_!._15.

¢  Dividend p'ayout_—_ 0% of ea_r_niligs.

. Expected growth rate in dividqnd - 10%.

. Cmfentmarketpﬂcepershafew?%.

. Company’s tax rate is 30% and shareholder’s Personal tax rate is
- 20%. | o

You are requu;ed to

(i) Calculate the post tax average cost of addmonal debt_ S

(ﬁ__) : Calcu]ate the cost of retamed earnings and’ cost of eqmty

i

(iif) Calculate the overall welghted average (after tax) ctht of

addmonal finance. _
5. (a) Explalll ‘Sunk Cost’ and ‘Opportunity-c(jst’-. . : IREAN dxd
| | | ‘Becala i =16
.(b) Write notes on ‘Escalation Clause’,
(c) Explain ‘Sales and Lease Back’.
(d) Expiain ‘Miller-Orr Cash Management model’.
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6. (a). A machine shop cost centre contains three machines of equal capacities. 8
Three operators are employed on each machine, payable ¥ 20 per hour
each The factory works for 48 hours in a week whmh includes 4 hours
set up time. The work is jointly done by operators. The operators are
paid fully for the 48 hours. In addition, they are also paid a bonus of
10% of productive time. Costs are reported for this company on the
basm. of thirteen, four-weekly period. ' .
The company, for the purpose of computing machme ‘hour rate includes
the direct wages of the operator and also recoups the factory overheads
allocated to the machines. The following .deta_ils of factor&'overheads
applicable to the cost centres are avﬁilab_lq : _ |

 Original Cost of each machine = T52,000

Deprecialion on the original cost of the machine - 10% p.a.

Maintenance & Repair per week per macmne - - T60
Consumable Stores per week per machine. - 275
~ Power : 20 units per hour per machine ¥~ 80 paise per unit

B Appottionment to the cost centre :

| Rentperannum L 5,400
Heat Eﬁdugh_tfper_annm - 29720
,_Fﬁreman?s Salarypet annum 2 | 4 12,960
Calculate o |

63 ‘the cost of runmng one machme for a four week penod
(i) machme hour rate. '

. MRN-H
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(b) The following information is provided by the DVP Ltd. for the year | 8
ending 31 March, 2015. | .
Raw Material storage period 50 days
Work in pmgress conversibn period 18 days
Finished Goods storage period 22 days
Debt Collection period o | 45 days
Creditofs’ paymcn.t period | . 55 days
Annual Operating Cost - T 21 Lacs

(Including depreciation of ¥ 2,10,000).
(1 year =360 days) .
You are requu'ed to calculate :
(i)  Operating .cycle penod
(i) Number of Operatmg Cycles in a year.
(i) Amount of %brking capital requlred fof the company on a ca_sh.
- cost baﬁis. _ |

(iv) The _cqmpany isa market leader in its product, there i virtually no
competitor in the market. Based on a market research, it is
planning to discontinue sales on ciédit and deliver prod_uét's based'
on prc-pay'm_cnts. Thereby, it can reduce its working capltal
requirenierit substantially. What would be the fedUCﬁon. in
‘working capital requirement due to such decision ? ..

© Thelnstitute of Chartered Accountants of India
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7. Answer any four of t.hé following : 4x4

(@) Define ‘Cost Centre’ and state its types.

(b) State benefits of Integrated Accounting.

(c) Differentiate between ‘Factoring’ and Bill discounting’.

d) Dis_cuss the conflicts in Profit versus Wealth maximization principle of

the firm. | ’
(€) Define ‘Present Value’ and Perpetuity’.

 MRN-H
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